(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

## TITLE OF INFORMATION COLLECTION DOCUMENT

Livestock Mandatory Reporting Act of 1999

омв **NO**. 0581-0186

DATE PREPARED

IDENTIFI	IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT						DEN			
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)
				RESPONDENT					KEEPER	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
59.101	Live Cattle Daily Report - Current Established Prices	LS-113	34	520.0000	17,680.00	0.1700	3,005.60			0.00
59.101	Live Cattle Daily Report - Committed & Delivered Cattle	LS-114	34	520.0000	17,680.00	0.1700	3,005.60			0.00
59.103	Live Cattle Weekly Report - Forward Contract & Packer-Owned	LS-115	34	52.0000	1,768.00	0.2500	442.00			0.00
59.103	Cattle Premiums & Discounts Weekly Report	LS-117	34	52.0000	1,768.00	0.0800	141.44			0.00
59.104	Boxed Beef Daily Report	LS-126	48	520.0000	24,960.00	0.1250	3,120.00			0.00
59.102	Cow/Bull Plant Delivered Bids (Dressed Basis)	LS-131	22	260.0000	5,720.00	0.0800	457.60			
59.102	Live Cow/Bull Daily Purchase Report	LS-132	22	260.0000	5,720.00	0.1700	972.40			
59.202	Swine Prior Day Report	LS-118	52	260.0000	13,520.00	0.2500	3,380.00			0.00
59.202	Swine Daily Report	LS-119	40	520.0000	20,800.00	0.1700	3,536.00			0.00
	SUBTOTAL				109,616.00		18,060.64	0.00		0.00
	TOTAL OF ALL PAGES				118,092.00		21,566.77	0.00		0.00

REPRODUCE LOCALLY. Include form number and date on all reproductions.	SUMN	MARY OF INFO	RMATION COLLECT	TION		Page	2 of 5
TOTAL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c				118,092.00	21,566.77		

SUMMARY OF INFORMATION COLLECTION USDA-AMS

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

## TITLE OF INFORMATION COLLECTION DOCUMENT

Livestock Mandatory Reporting Act of 1999

омв **NO**. 0581-0186

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN								
				REPORTS RECORDS							
										TOTAL	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-	
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS	
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)	
				RESPONDENT					KEEPER		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
59.204	Swine Noncarcass Merit Premium Weekly Report	LS-120	21	52.0000	1,092.00	0.2500	273.00			0.00	
59.301	Live Lamb Daily Report - Current Established Prices	LS-121	6	260.0000	1,560.00	0.3400	530.40			0.00	
59.302	Live Lamb Weekly Report - Forward Contract and Packer-Owned	LS-123	5	52.0000	260.00	0.2500	65.00			0.00	
59.302	Live Lamb Weekly Report - Formula Purchases	LS-124	5	52.0000	260.00	0.2500	65.00			0.00	
59.302	Lamb Premiums & Discounts Weekly Report	LS-125	6	52.0000	312.00	0.0800	24.96			0.00	
	SUBTOTAL				3,484.00		958.36	0		0.00	

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUME	NT

Livestock Mandatory Reporting Act of 1999

омв **NO**. 0581-0186

DATE PREPARED

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
				REPORTS						
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
				RESPONDENT					KEEPER	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
59.303	Boxed Lamb Report (domestic packers)	LS-128	10	260.0000	2,600.00	0.1670	434.20			0.00
59.303	Boxed Lamb Report (importers)	LS-128	6	52.0000	312.00	0.0840	26.21			0.00
59.303	Lamb Carcass Report (domestic packers)	LS-129	8	260.0000	2,080.00	0.1670	347.36			0.00
					0.00		0.00			0.00
					0.00		0.00			0.00
					0.00		0.00			0.00
	SUBTOTAL				4,992.00		807.77	0		0.00

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

## TITLE OF INFORMATION COLLECTION DOCUMENT

Livestock Mandatory Reporting Act of 1999

омв **NO**. 0581-0186

DATE PREPARED

IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL BURD	)EN		1	1, 2007
IDENTIFICA	ATTOM OF THE STATES ON RECONDINEERING REQUIREMENT			REPORTS						
										TOTAL
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
				RESPONDENT					KEEPER	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
	Develop and maintain electronic interface		116		0.00	15.0000	1,740			0.00
					0.00		0			0.00
					0.00		0			0.00
					0.00		0			0.00
					0.00		0.00			0.00
					0.00		0.00			0.00
					0.00		0.00			0.00
	SUBTOTAL				0.00		1,740.00	0		0.00